i

= EdiERE

imeE B A660L/min

TIEE 51 K 420bar




HEES L Specifications

FramsEtm R ErEa Type of construction : Inline filter

ZEFX: TE EMMBELFLBEE Mounting method : Vertical

WEhAmE: ER—/KELE, —d#HORS—BHO, Flow direction: Inlet to outlet: side connection,
at the same level, on opposite sides

I1EEF: &K420bar Operating pressure: Max. 420 bar
TERE: -40T ~ +120C Operating temperature : —-40C to +120C
#EORR: BSPP/M 1841 , SAE62iA= Connection ports: BSPP/Metric, Flanges SAE62
ZEEL TR/ ESERE, Seal material: NBR,Viton, EPDM on request
T Filtration media:
L. 2, 5. 10, 20um glass fibre: 2, 5, 10, 20um
4k: 10, 25um cellulose: 10um,25um
£EM: 40um mesh:40 p m.
TENEREEZE: 20 bar Element collapse rating: 20 bar
FEBFREZE: 6bar Bypass setting:Opening pressure 6 bar
HEFEZEMRERES other settings on request.
EMBEERINIEZ: Sbar, BM-B/ER Pressure indicator options: 5 bar
HEEEZEWTRERES - visual - visual /electrical,
other settings on request.
IENREEE Fluid compatibility:
EATETH. A& Suitable for mineral oils, synthetic
HENRIBEEEAARAEDI] For use with water, please contact our company.
ot EfFS
Hydraulic symbol
S
To system

EHid g
Pressure filter




iT84XF Ordering Code
i2ifE&8 The Completed Filter

iTESREI S Filter type

#iE Flow rate (L/min)
0030, 0060,0110, 0160, 0240, 0330,0500,0660

B4l Element material
P: #E4K Celullose (B x=2)
F: #H£F Glass fiber( B x=200)
W: £E K/ Wire mesh

13 JE#EEE Filtration rating( u m)
(F): 002, 005, 010, 020 (P): 010, 025 (W):040

ZH R Seals
N: TE5#:EZ NBR, V: &# Viton

#OF/R~F Port type/Size

0030 ) )

0060 ® ®

0110 ) [ )

0160 [ ] & @

0240 o ® ®

0330 o )
0500 ® L]
0660 ® o
B08=G1/o , B12=G3/4 , B16=G1

M18=M18x1.5, M27=M27x2, M33=M33x2

F25=SAE62-1" , F32=SAE62-1 1/4” ,F40=SAE61-1 1/o”

EZ£ % ifl8% Indicators
N:7 No, V:B#R visual 5bar, E:B/fE3K visual / electrical 5bar

_




PAF & EiT g
PAF High Pressure Filter

B8y The Replacement Element
PAE 0500 F 010 N
JEASEIE Element type I

& Flow rate (L/min)
0030, 060,0110, 0160, 0240, 0330,0500,0660

i ## Element material
P: B4k Celullose ( B x=2),
F: BE4F Glass fiber( B x=200),
W: £E ™ Wire mesh

T iEAEE Filtration rating( p m)
(F): 002, 005, 010, 020 (P): 010, 025 (W):040

ZEH# Seals
N: TE#E: NBR, V: 158 Viton

ez EEMEES L Fiter Specification

Filter Ports Element Flow(L/min) Weight(Kg)
PAF0030 1247 Thread G1/o , M18x1.5 PAE0030 30 3.2
PAF0060 ‘ PAEQ060 60 4.2
#8247 Thread G3/4 , M27x2

PAF0110 PAEQ110 110 5.7

PAF0160 Y247 Thread G1, M33x2, PAE0160 160 6.7

£ F SAE62-1"

PAF0240 = Flange PAE0240 240 9.2

PAF0330 PAE0330 330 15.8
o 1 "

PAF0500 7%= Flange SAE61 - 11 l2 PAE0500 500 20.3
SAE62 - 11/4 "

PAF0660 - PAE0660 660 248

JEBEMZR Pressure Drop Curves

T IRER A EE R AR ER M _ EEREERNER, BESELERSIVGEERESK T 2bar,
MRAEAN TN RIaE SR E320St, ERERITENT:

Ap=(Ap32 x TIEST FisL &) / 32¢St.

iR EREREERE T TIEN RAIZh 5 EE32cSt, B E0.87/5E],

The “Assembly Pressure Drop(A P) is obtained by adding the pressure drop values of the filer housing and
of the clean filter element and the recommended level of the initial pressure drop for high pressure filters is
Max. 1.2 bar.

If the medium used has a viscosity different from 32cSt, pressure drop over the filter can be estimated as
follows:

Ap = (Ap32 x viscosity of medium used) / 32¢cSt.

Filter pressure drop based on 32c¢St fluid viscosity and 0.87 density.




AP (bar)

AP (har)

AP (bar)

AP (bar)

PAF & [EiT 7

PAF High Pressure Filter -

5ok EPF Filter Housing Pressure Drop

PAF0030-0060-0110

PAF0180-0240

PAF0330-0500-0660

175 175 175
15 F 15 F 15 F
125F . 125 F 125F
E PaF0030,/ 7 I
1 E w1 E s 1 -
E AF0060-0110 < E PAF0160-0240 £ E PAF0330-0500-0660
0.75 F % o7sf % orsF
os Z os os
0.25F 0.25 F 0.25 F
P ] vl Rl Bl P .".'"./-....... P o P v A
0 25 50 75 100 125 150 1] 50 100 150 200 250 300 0 125 250 375 500 625 750
it Flow (L/min) iR Flow (L/min) R Flow (L/min)
Ny s S
- |
A FRiB 4R S # A E B
PAEO030 PAEO060 PAEO110
175 002 F:ons =] 175E FD% SE Fooz
E 00! E
15 F 15 F / e 15 F FoO
125 F 125 F 125 F
1 F F1 F T1
E £ E £ E
0.75F oo % 075F o10] & 075F —
oo b == - ey =
5 F —P F ] .5 F —P01
025 = | poos| 3 ———F— | _pozs o2sf f‘]é =L o]
o o 10 20 30 40 50 60 0 15 30 45 80 75 El) o o 25 50 75 100 125 150
i Flow (L/min) it Flow (L/min) R Flow (L/min)
PAEQ160 PAE0240 PAE0330
175E Fm?g/ F00S LI3F Fo02 FO05, h2E F0OZ 005
15 F 15 F v 15 F <
125F / 125F 125F
1 F 51 F T f
3 / gt S F g
E = E = E
075 F — & onsE o1 % o7sf o
. E |_-F020 05 E 05 E
3 / //__'______,_-'-PDIG" E | _rozo— E / L — | _roo0]
0.25F —— ————=ro25—{ 025F — 0103 025 PO10]
% — :é e [ —— 0] 3 Po25—]
o 9 50 100 150 200 250 300 o 9 50 100 150 200 250 300 o 9 75 150 225 300 375 450
Fe Flow (L/min) Fe & Flow (L/min) & Flow (L/min)
PAE0500 PAEOG60
5
LIt - FO02 L ooz}
15k y 15 F
125 F 125 F &
1 F 51 F
- = -
E = E
0.75: o] 2 0.75:
05 F 020~ 05 F 010=1
i | —T ——rai— i | —T—Foa0—
0.25F — Po25=] 025 o =01t
E =T — E éé ﬁ;-_-:; ——P025]
0 M P i i i i i i 0 T i i P
[ 125 250 375 500 625 750 o 125 250 375 500 625 750

Fe Flow (L/min)

Fe & Flow (L/min)




S RFERST Dimensions

PAF0030-0110

|
77777 | .
- : e — }'—H&
i ; 1
| / !
1 ~ |
i | |
BN 7 —
- TN i % 35414 TORQUE
i i 22-27Nm
| |
i |
rr I | P :
R M
8z @'l{5 7~ /S=24
T2 HEx24 A/F
x
¥ O
i
e
w2
224EF|, 4-M8x1.25 i®12 B @
‘—MOUNTING HOLES,M8 x 1.25-6H x 12DEEP
«©
A
2 | B
2 PAF0030 Gl/p, M18x1.5 165
PAF0060 198
G3/4, M27x2
PAF0110 293
R30




S &FER T Dimensions

PAF0160-0240

.

——— TN

T —

237, 4-M10x1.5F 11

4-MOUNTING HOLES,M10x1.5-6HX11DEEP

90

\

\

=

D

$120
55

RN

PAF0160

PAF0240

278

B
I T 7

i \. RFHIE TORQUE
| 34-40Nm
I

Q |

‘? § #93 7~ S=24

5 2 HEx24.0 A/F

® =

Bl 2

SAE 62-1” —6000psi(420bar)
4-M12 x 1.75-6H x 195 DEEP

G1, M33x2

SAE62 - 17

236
345




M ERFERST Dimensions

PAF0330-0660

- | !l |
K
. )
“ll i e
0
[ ke
|
ﬁ%%-ﬂ, 4-M10x15 iF11
4-MOUNTING HOLES,M10 x 1.5-6H x 11DEEP
\ 120
\%S -+
e @
38 t=——1——— —

SAE 62 - 1-1/4” —6000psi(420bar)

g 1

s
9

4-M14 x 2-6H x 20DEEP

FEiigE R -100
BOWL REMOVAL

L5 TORQUE
81-95Nm

7v775=36

HEX 36.00 A/F

PAF0330 324
PAF0500 443
PAF0660 557




	08-PAF(49-56)-01.jpg
	08-PAF(49-56)-02.jpg
	08-PAF(49-56)-03.jpg
	08-PAF(49-56)-04.jpg
	08-PAF(49-56)-05.jpg
	08-PAF(49-56)-06.jpg
	08-PAF(49-56)-07.jpg
	08-PAF(49-56)-08.jpg

